
i'liOBLE.AE XLIX.

To Find a Third PropoJ^^al to Two Given Lines.

First.—Lot it bo w-
'I'lii-i'fl ('. find a third

pi'oiioi'fioiml wliicli will

ho groiitcr tliaii A or Ji.

-{I-'i'J. o!/.)

Draw any li„n C F
inakiiifr C D eiiual to A
and D F equal to B.
From C draw a line, C6'

lien 7/A wdl bo tl,e proportional re
• (^ ^^ : ClI

: II K. {Euclid vi.n.)
a

SEcojfD.-Letitborocjuir-
ed to find a tliird propor-
tional wliicli will bo less tiun
A or n.—(Fi,j. GO.)

Draw any lino, C^, mak-
ing 6'2> e(]ual to A and D F
equal to i.'. From C draw a
line, CO, of indefinite length,

FiQ. 58.

quired, that is CD

Flo. 59.

forming any angle with CF and
"'":;^'"°*""'''fi"ite length,

B. Join 113 Fro n^^if' ^,. " '''""'"''' ^ ^^ "'l"-! to
..

,

" .1^. X loni ji draw a nie parallel to // /) /^ 1

1

vii.) to meet CG in K. Then //K J !?
^^ "'''"

required, that is, CD : C } CU • //
/'° '^ '^'"''P-"''--^'

Ml

EXKRCISKS.

04. D.-aw two lines V and J" Ion. respo,.,ively an,l fin.l nth.rd proportional wl.ieh will ,„! ,,,.„„.,;!' ,
^

'^

J6. iinda thinl proportional (-reateri t,. tw . l' i
•

tiM! ratio of a and \
^''"^'"•^'^ *" *"" '"»'•'< bearing

37- Find a third Jn'oportionnl (less) to two Jines 1
1 '

a. -1 Vlong respectively.
' " Jints i^ a. .1 I


